Yrov—r7

Selo Eicing

Made in Japan

KAWASAKI ZX-14R (“12-)
ENGINE SLIDERS

part# K-ZX14RES

SLIDER PUCK
ERPL WASHER M10

SPLIT WASHER M10

SOCKET HEAD
M10x30

SOCKET HEAD
M6x50

COLLAR 15-6

SOCKET HEAD
M6x45

SOCKET HEAD
M6x65 @

COLLAR 35-6

SLIDER BASE [R]

10x30

COLLAR 35-6

SPLIT WASHER M10

SOCKET HE

M6x65
SLIDER PUCK
WASHER M10 L10-85

satoracing.com



